
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES

KOREAN VEHICLES

AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST

VISIT CTR WEB CATALOGUE

www.neoctr.kr

NEO CTR CO., LTD.



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQT-39R 48610-35040 UPPER R 4RUNNER KZN185, RZN18#, VZN18# 95-02 4PCS

HILUX SURF KDN185, KZN185, RZN18#, VZN18# 95-02

LAND CRUISER 90/PRADO KDJ9#, KZJ9#, LJ9#, RZJ9#, VZJ9# 96-08

CQT-39L 48630-35020 UPPER L 4RUNNER KZN185, RZN18#, VZN18# 95-02 4PCS

HILUX SURF KDN185, KZN185, RZN18#, VZN18# 95-02

LAND CRUISER 90/PRADO KDJ9#, KZJ9#, LJ9#, RZJ9#, VZJ9# 96-08

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQMZ-15R B092-34-310A LOWER R 323 88-89 4PCS

EUEDE 86-

FAMILIA 86-

LASER 84-

CQMZ-15L B092-34-360A LOWER L 323 88-89 4PCS

EUEDE 86-

FAMILIA 86-

LASER 84-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQS-8R 45201-63J00 LOWER R SWIFT HATCHBACK III ZC, ZD 04-10 4PCS

CQS-8L 45202-63J00 LOWER L SWIFT HATCHBACK III ZC, ZD 04-10 4PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQHO-46R 51350-TR7-A01 LOWER R CIVIC COUPE/SEDAN 12-15 4PCS

CQHO-46L 51360-TR7-A01 LOWER L CIVIC COUPE/SEDAN 12-15 4PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQB-1 33322406289 UPPER R BMW X1 E84 12-15 5PCS

UPPER L BMW 1 SERIES COUPE E82 08-13

BMW 1 SERIES CONV E88 08-13

BMW 3 SERIES WAGON E91 06-12

UPPER BMW 3 SERIES SEDAN E90 06-11

BMW 3 SERIES COUPE E92 07-13

BMW 3 SERIES CONV E93 07-13

CQB-2 33326782238 UPPER L BMW X1 E84 12-15 5PCS

UPPER R BMW 1 SERIES COUPE E82 08-13

BMW 1 SERIES CONV E88 08-13

BMW 3 SERIES WAGON E91 06-12

CQB-3R 31126761410 LOWER R MINI COOPER/COOPER S R50, R52, R53 02-08 4PCS

CQB-3L 31126761409 LOWER L MINI COOPER/COOPER S R50, R52, R53 02-08 4PCS

SUZUKI

HONDA

NEW ITEMS

BMW

CONTROL ARM

MAZDA

TOYOTA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQVW-4R 5Q0 505 224 D REAR AUDI TT CONV FV 16- 4PCS

TRAILING R AUDI TT COUPE FV 16-

AUDI A3/S3 SEDAN 15-

AUDI A3 CABRIO A3CA 15-

VOLKSWAGEN GOLF R 15-

VOLKSWAGEN E-GOLF 15-

CQVW-4L 5Q0 505 223 D REAR AUDI TT CONV FV 16- 4PCS

TRAILING L AUDI TT COUPE FV 16-

AUDI A3/S3 SEDAN 15-

AUDI A3 CABRIO A3CA 15-

VOLKSWAGEN GOLF R 15-

VOLKSWAGEN E-GOLF 15-

CQVW-5 1K0 501 529 H TRACK ARM AUDI A3 06-13 5PCS

AUDI TT COUPE/ROADSTER 08-15

VOLKSWAGEN BEETLE COUPE 5C1 12-

VOLKSWAGEN BEETLE CONV 5C7 13-

VOLKSWAGEN EOS 1F 07-

VOLKSWAGEN GOLF HATCHBACK 10-14

VOLKSWAGEN GTI 10-14

VOLKSWAGEN JETTA SEDAN GEN 5 05-10

VOLKSWAGEN JETTA HYBRID 13-

VOLKSWAGEN JETTA/GLI SEDAN 11-
VOLKSWAGEN JETTA/GOLF

WAGEN
09-14

VOLKSWAGEN PASSAT 12-

CQVW-6R 561 407 152 C LOWER R VOLKSWAGEN PASSAT 12- 4PCS

VOLKSWAGEN BEETLE COUPE 5C1 12-

VOLKSWAGEN BEETLE CONV 5C7 13-

CQVW-6L 561 407 151 C LOWER L VOLKSWAGEN PASSAT 12- 4PCS

VOLKSWAGEN BEETLE COUPE 5C1 12-

VOLKSWAGEN BEETLE CONV 5C7 13-

CQVW-7R 1K0 501 530 C REAR R AUDI A3 06-13 5PCS

AUDI TT COUPE/ROADSTER 08-15

AUDI Q3 15-

VOLKSWAGEN CC 13-

VOLKSWAGEN EOS 1F 07-

VOLKSWAGEN GTI GEN 5 06-09

VOLKSWAGEN JETTA SEDAN GEN 5 05-10

VOLKSWAGEN JETTA/GOLF WAGON 09-14

VOLKSWAGEN PASSAT 06-10

VOLKSWAGEN PASSAT CC 09-12

VOLKSWAGEN RABBIT 06-09

VOLKSWAGEN TIGUAN 09-

CQVW-7L 1K0 501 529 F REAR L AUDI A3 06-13 5PCS

AUDI TT COUPE/ROADSTER 08-15

AUDI Q3 15-

VOLKSWAGEN CC 13-

VOLKSWAGEN EOS 1F 07-

VOLKSWAGEN GTI GEN 5 06-09

VOLKSWAGEN JETTA SEDAN GEN 5 05-10

VOLKSWAGEN JETTA/GOLF WAGON 09-14

VOLKSWAGEN PASSAT 06-10

VOLKSWAGEN PASSAT CC 09-12

VOLKSWAGEN RABBIT 06-09

VOLKSWAGEN TIGUAN 09-

CQVW-8R 5Q0 407 152 M LOWER R SEAT LEON/LEON 4 13-15 4PCS

VOLKSWAGEN GOLF/VARIANT/4MOTION 13-15

CQVW-8L 5Q0 407 151 M LOWER L SEAT LEON/LEON 4 13-15 4PCS

VOLKSWAGEN GOLF/VARIANT/4MOTION 13-15

VOLKSWAGEN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQVW-10R 6R0 407 152 E LOWER R SEAT CORDOBA SEDAN III 6L2 02-09 4PCS

SEAT IBIZA IV 6L1 02-09

SKODA FABIA ESTATE II 5J5 07-

SKODA FABIA HATCHBACK II 5J2 06-

SKODA PRAKTIK 5J 07-

SKODA ROOMSTER 5J 5J 06-

VW POLO HATCHBACK IV 9N1, 9N3 01-09

CQVW-10L 6R0 407 151 E LOWER L SEAT CORDOBA SEDAN III 6L2 02-09 4PCS

SEAT IBIZA IV 6L1 02-09

SKODA FABIA ESTATE II 5J5 07-

SKODA FABIA HATCHBACK II 5J2 06-

SKODA PRAKTIK 5J 07-

SKODA ROOMSTER 5J 5J 06-

VW POLO HATCHBACK IV 9N1, 9N3 01-09

CQVW-12R 5C0 407 152 D LOWER R VW JETTA/GLI SEDAN 11- 4PCS

VW JETTA HYBRID 13-

CQVW-12L 5C0 407 151 D LOWER L VW JETTA/GLI SEDAN 11- 4PCS

VW JETTA HYBRID 13-

CQVW-13 6Q0 407 151 L LOWER SEAT CORDOBA SEDAN III 6L2 02-09 4PCS

SEAT IBIZA IV 6L1 02-09

SKODA FABIA PRAKTIK 6Y 01-07

SKODA FABIA SEDAN 6Y3 99-07

SKODA FABIA ESTATE 6Y5 00-07

SKODA FABIA HATCHBACK 6Y2 99-08

SKODA FABIA HATCHBACK II 5J2 07-

SKODA ROOMSTER 5J2 06-

SVW POLO SEDAN 06-

SVW POLO HATCHBACK 06-07

VW FOX HATCHBACK 5Z1, 5Z3 03-

VW POLO SEDAN IV 9A2, 9N2 02-05

VW POLO HATCHBACK IV 9N1, 9N3 01-09

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-106R 54501-0X000 LOWER R i10 PA 08- 4PCS

BLUE ON 11-

CQKH-106L 54500-0X000 LOWER L i10 PA 08- 4PCS

BLUE ON 11-

VOLKSWAGEN

HYUNDAI



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLT-113R 48820-08010 FRONT R SIENNA MCL10 97-03 10PCS

(20/2PCS)

CLT-113L 48810-08010 FRONT L SIENNA MCL10 97-03 10PCS

(20/2PCS)

CLT-114R 48802-0E010 REAR R HIGHLANDER/KLUGER ASU50, GSU5$, GVU58 13- 25PCS

LEXUS RX350/450H GGL1#, GYL1# 09- (50/2PCS)

CLT-114L 48803-0E010 REAR L HIGHLANDER/KLUGER ASU50, GSU5$, GVU58 13- 25PCS

LEXUS RX350/450H GGL1#, GYL1# 09- (50/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-81 54618-6A0A1 FRONT OTTI NA0, NA1 05- 40PCS

DAYZ ROOX BA0 14- (80/2PCS)

CLN-82 54617-WL010 FRONT ELGRAND E51 02-10 10PCS

54667-WL010 (20/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLHO-93 51320-SJA-013 FRONT ACURA RL 05-08 25PCS

(50/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLB-1R 31356765934 FRONT R BMW 1 SERIES COUPE E82 08-13 10PCS

BMW 1 SERIES CONVERTIBLE E88 08-13 (20/2PCS)

BMW 3 SERIES SEDAN E90 06-11

BMW 3 SERIES COUPE E92 07-13

BMW 3 SERIES CONVERTIBLE E93 07-13

BMW X1 E84 12-15

BMW Z4 CONVERTIBLE E89 09-

CLB-1L 31356765933 FRONT L BMW 1 SERIES COUPE E82 08-13 10PCS

BMW 1 SERIES CONVERTIBLE E88 08-13 (20/2PCS)

BMW 3 SERIES SEDAN E90 06-11

BMW 3 SERIES COUPE E92 07-13

BMW 3 SERIES CONVERTIBLE E93 07-13

BMW X1 E84 12-15

BMW Z4 CONVERTIBLE E89 09-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLCR-2 04766962AA FRONT DODGE JOURNEY 09- 10PCS

(20/2PCS)

CLCR-3 68052655AA REAR DODGE JOURNEY 09- 25PCS

(50/2PCS)

CHRYSLER

BMW

STABILIZER LINK

TOYOTA

NISSAN

HONDA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVKK-92R 55275-2P200 RR TRAILING ARM, RH SORENTO XM 12-14 1 PCS 30 PCS

CVKK-92L 55274-2P200 RR TRAILING ARM, LH SORENTO XM 12-14 1 PCS 30 PCS

CVKK-93 54813-2W100 FRT STABILIZER BAR SORENTO XM 12-14 2 PCS 60 PCS

CARNIVAL YP 14-

SANTA FE DM 12-

CVKK-94 54813-1W000 STABILIZER BAR CARNIVAL YP 14- 3 PCS 90 PCS

PRIDE UB/LB 11-

SORENTO XM 12-14

SANTA FE DM 12-

GENESIS COUPE BK 11-16

CVKK-95 55513-3N200 STABILIZER BAR K5 JF 15- 3 PCS 90 PCS

K5 HYBRID JF 15-

K7 YG 16-

NIRO DE 16-

SPORTAGE R SL 10-

AVANTE AD 15-

EQUUS VI 09-12

GENESIS BH 07-14

i40 VF 11-14

i40 15-

IONIQ HYBRID 15-

SONATA LF 14-

SONATA HYBRID LF 14-

TUCSON IX LM 09-13

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS PRODUCT QTY MOQ

CVKD-85 13321342 FRT LOWER ARM CRUZE J300, J305, J308 09- 3 PCS 90 PCS

(LACETTI PREMIOR)

OPEL ASTRA J 09-

VAUXHALL ASTRA J 09-

KIA

BUSH

GM DAEWOO



* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS

WITH GOOD PERFORMANCES.

THE OEM NUMBERS AND OTHER APPLICATIONS WITH MARK ☆ ARE NEW APPLICATIONS AND WERE NOT INCLUDED

IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBN-62 40110-2S485 ◈ UPPER R/L PICK UP 2WD D22 97-02 40PCS

40110-2S486

40110-2S685 PICK UP 4WD D22 98-04

40110-2S686 FRONTIER 98-00

40110-3S600

40110-8B425

40110-8B525

40110-8B550

40110-9Z050

40110-VJ200

CBN-74 UPPER R/L NAVARA D23T 07- 30PCS

FOR 54524-EB70D/54525-EB70D

          54524-4JA0A/54525-4JA0A

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBN-62 40110-2S485 ◈ UPPER R/L PICK UP 2WD D22 97-02 40PCS

40110-2S486 PICK UP 4WD D22 98-04

40110-2S685 FRONTIER 98-00

40110-2S686

40110-3S600

40110-8B425

40110-8B525

40110-8B550

40110-9Z050

40110-VJ200

FOR 54524-9Z050/54525-9Z050

FRONTIER D22U 97-04

CBN-74 UPPER R/L NAVARA D23T 07- 30PCS

FOR 54524-EB70D/54525-EB70D

          54524-4JA0A/54525-4JA0A

FRONTIER D40 04-

PATHFINDER R51 04-12

XTERRA N50 05-

FOR 54524-EA000/54525-EA000

BALL JOINT

NISSAN

ADDITIONAL APPLICATION

BALL JOINT

NISSAN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-98 48520-3S525 ◈ OUTER PICK UP 4WD D22 98- 20PCS

48520-0W025 FEMALE RHT TERRANO R50 95- (36/2PCS)

48520-0P725 M14 X 1.5 INFINITI J30 93-97

48520-0P726 INFINITI Q45 04-06

D8520-0P725 X-TRAIL T30 00-

D8520-VK90A PATHFINDER R50 04-

FRONTIER 01-04

CEDRIC Y32 91-93

AVENIR W11 99-00

FRONTIER D22   4X4 01-04

CEN-146R D8520-3TA0A OUTER R ALTIMA L33 13- 12PCS

M14 X 1.5 (24/2PCS)

CEN-146L D8640-3TA0A OUTER L ALTIMA L33 13- 12PCS

M14 X 1.5 (24/2PCS)

CEN-153R D8520-1KA0A OUTER R E30 VNZE0 13- 25PCS

JUKE F15, F15E 10- (34/2PCS)

LEAF ZE0, ZE0U 10-

TIIDA C12W, C12Z 11-

CEN-153L D8640-1KA0A OUTER L E30 VNZE0 13- 25PCS

JUKE F15, F15E 10- (34/2PCS)

LEAF ZE0, ZE0U 10-

TIIDA C12W, C12Z 11-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEG-20 26086580 OUTER BUICK LACROSSEA/ALLURE 05-09 36PCS

BUICK CENTURY/REGAL 97-05 (50/2PCS)

CHEVROLET IMPALA/ 00-05

MONTE CARLO

CHEVROLET IMPALA LIMITED/ 06-15

MONTE CARLO

OLDSMOBILE INTRIGUE 98-02

PONTIAC GRAND PRIX 04-08

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-98 48520-3S525 ◈ OUTER PICK UP 4WD D22 98- 20PCS

48520-0W025 FEMALE RHT TERRANO R50 95- (36/2PCS)

48520-0P725 M14 X 1.5 INFINITI J30 93-97

48520-0P726 INFINITI Q45 04-06

D8520-0P725 X-TRAIL T30 00-13

D8520-VK90A PATHFINDER R50 04-

D8520-0P71A FRONTIER 01-04

CEDRIC Y32 91-93

AVENIR W11 99-00

FRONTIER D22   4X4 01-04

CEN-146R D8520-3TA0A OUTER R ALTIMA L33 13- 12PCS

D8520-3GJ0C M14 X 1.5 TEANA L33L, L33T 13- (24/2PCS)

CEN-146L D8640-3TA0A OUTER L ALTIMA L33 13- 12PCS

D8640-3GJ0C M14 X 1.5 TEANA L33L, L33T 13- (24/2PCS)

GENERAL MOTORS

NISSAN

TIE ROD END

NISSAN

TIE ROD END



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-153R D8520-1KA0A OUTER R E30 VNZE0 13- 25PCS

D8520-3RA1A JUKE F15, F15E 10- (34/2PCS)

LEAF ZE0, ZE0U 10-

TIIDA C12T, C12W, C12Z 11-

SYLPHY B17 12-

SENTRA/SYLPHY T B17T 12-

CEN-153L D8640-1KA0A OUTER L E30 VNZE0 13- 25PCS

D8640-3RA1A JUKE F15, F15E 10- (34/2PCS)

LEAF ZE0, ZE0U 10-

TIIDA C12T, C12W, C12Z 11-

SYLPHY B17 12-

SENTRA/SYLPHY T B17T 12-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEG-20 26086580 OUTER BUICK LACROSSEA/ALLURE 05-09 36PCS

89047697 BUICK CENTURY/REGAL 97-05 (50/2PCS)

CHEVROLET IMPALA/ 00-05

MONTE CARLO

CHEVROLET IMPALA LIMITED/ 06-15

MONTE CARLO

OLDSMOBILE INTRIGUE 98-02

PONTIAC GRAND PRIX 04-08

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRMZ-47 1FAA-32-24X R/L B2300 05- 20PCS

M16 X 1.5 B3000

M14 X 1.5 B4000

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRF-10 1510270◈ M14 x 1.5 FOCUS SEDAN III BM_ 11- 20PCS

1714484 M16 x 1.5 FOCUS WAGON III BL_ 11-

1251937 FOCUS HATCHBACK III BK_ 11-

1780104 FUCUS C-MAX 03-07

3M51-3L519-AB C-MAX DE_ 07-10

3M51-3L519-AA C-MAX II BH_ 10-

31201817 GRAND C-MAX BH_ 10-

274502 KUGA DR_ 08-12

30776283 KUGA II MA_ 13-

TOURNEO CONNECT II 13-

TRANSIT CONNECT KOMBI 13-

VOLVO C30 MK 06-12

VOLVO C70 CONVERTIBLE II MC 06-

VOLVO S40 II MS 04-12

VOLVO V50 MW 04-12

VOLVO HATCHBACK MV 12-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRMZ-47 1FAA-32-24X R/L B2300 05- 20PCS

AU2Z-3280-A M16 X 1.5 B3000

M14 X 1.5 B4000

FORD EXPLORER/MOUNTAINEER 95-01

FORD TRUCK RANGER 98-11

RACK END

MAZDA

FORD

RACK END

MAZDA

GENERAL MOTORS

TIE ROD END

NISSAN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRF-10 1510270◈ M14 x 1.5 FORD FOCUS SEDAN III BM_ 11- 20PCS

1714484 M16 x 1.5 FORD FOCUS WAGON III BL_ 11-

AV6Z-3280-F FORD FOCUS HATCHBACK III BK_ 11-

1251937 FORD FOCUS RS 16-

1780104 FORD FOCUS ST 15-

3M51-3L519-AB FORD FUCUS C-MAX 03-07

3M51-3L519-AA FORD C-MAX DE_ 07-10

31201817 FORD C-MAX II BH_ 10-

274502 FORD GRAND C-MAX BH_ 10-

30776283 FORD KUGA DR_ 08-12

FORD KUGA II MA_ 13-

FORD TOURNEO CONNECT II 13-

FORD TRANSIT CONNECT KOMBI 13-

VOLVO C30 MK 06-12

VOLVO C70 CONVERTIBLE II MC 06-

VOLVO S40 II MS 04-12

VOLVO V50 MW 04-12

VOLVO HATCHBACK MV 12-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-97R 54501-3X000 LOWER R AVANTE MD 11- 4PCS

  i30 11-

VELOSTER 11-

CQKH-97L 54500-3X000 LOWER L AVANTE MD 11- 4PCS

i30 11-

VELOSTER 11-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKK-22R 54501-07100 ◈ LOWER R MORNING (PICANTO) 04- 4PCS

54501-07200

51501-07150 07-08

CQKK-60R 54420-3E100 UPPER R SORENTO 06-08 4PCS

 

   

CQKK-60L 54410-3E100 UPPER L SORENTO 06-08 4PCS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-97R 54501-3X000 LOWER R AVANTE MD 10-15 4PCS

54501-3X700  i30 11-

VELOSTER 11-

CQKH-97L 54500-3X000 LOWER L AVANTE MD 10-15 4PCS

54500-3X700 i30 11-

VELOSTER 11-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKK-22R 54501-07100 ◈ LOWER R MORNING (PICANTO) 04- 4PCS

54501-07200

54501-07150 07-08

CQKK-60R 54420-3E100 UPPER R SORENTO 06-08 8PCS

 

   

CQKK-60L 54410-3E100 UPPER L SORENTO 06-08 8PCS

CONTROL ARM

HYUNDAI

KIA

RACK END

FORD

CONTROL ARM

HYUNDAI

KIA



'* INFORMATION WAS CHANGED AS FOLLOWS

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBT-49R 43330-39415 ◈ LOWER R HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185 01- 10PCS

43330-39585 4RUNNER RZN18#, VZN18# 96-02

43330-39466 LAND CRUISER PRADO KZJ90,RZJ9#,VZJ9# 96-

TUNDRA 00-02

CBT-49L 43340-39325 ◈ LOWER L HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185 01- 10PCS

43340-39465 4RUNNER RZN18#, VZN18# 96-02

43340-39356 LAND CRUISER PRADO KZJ90,RZJ9#,VZJ9# 96-

TUNDRA 00-02

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBT-49R 43330-39415 ◈ LOWER R HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185 01- 8PCS

43330-39585 4RUNNER RZN18#, VZN18# 96-02

43330-39466 LAND CRUISER PRADO KZJ90,RZJ9#,VZJ9# 96-

TUNDRA 00-02

CBT-49L 43340-39325 ◈ LOWER L HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185 01- 8PCS

43340-39465 4RUNNER RZN18#, VZN18# 96-02

43340-39356 LAND CRUISER PRADO KZJ90,RZJ9#,VZJ9# 96-

TUNDRA 00-02

 CORRECTION NOTE

INFORMATION

BALL JOINT

TOYOTA

BALL JOINT

TOYOTA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQS-6 45200-84000 ◈ LOWER R/L ALTO CA71A 84-88 5PCS

(CQS-3) 45200-78002 CA71V-2,-3,CA72V-2,-3,-4

45200-50E00 (4WD)CD72S-3

45200-69D00  (4WD)CC71V,CC72V-2,-3,-4  

45200-69DV0 CULTUS AA41S 83-

P100-28-310 PG6SA

 FRONTE CB71S,CB72S-2,-3 84-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQS-3 45200-84000 ◈ LOWER R/L ALTO CA71A 84-88 5PCS

(WITH BUSH) 45200-78002 CA71V-2,-3,CA72V-2,-3,-4

45200-50E00 (4WD)CD72S-3

45200-69D00  (4WD)CC71V,CC72V-2,-3,-4  

45200-69DV0 CULTUS AA41S 83-

P100-28-310 PG6SA

 FRONTE CB71S,CB72S-2,-3 84-

CQS-6 45200-84000 ◈ LOWER R/L ALTO CA71A 84-88 5PCS

(WITHOUT - 45200-78002 CA71V-2,-3,CA72V-2,-3,-4

            -  BUSH) 45200-50E00 (4WD)CD72S-3

45200-69D00  (4WD)CC71V,CC72V-2,-3,-4  

45200-69DV0 CULTUS AA41S 83-

P100-28-310 PG6SA

 FRONTE CB71S,CB72S-2,-3 84-

CONTROL ARM

SUZUKI

CONTROL ARM

SUZUKI



'* THE FOLLOWING PRODUCT HAS BEEN DISCONTINUED.

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRM-16 MB532972 R/L DELICA(L300) 4WD P23V,P25V,P23W,P26W…..exc/P.S 86-99 20PCS

M17 X 1.0

M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEHO-2R 53540-SP0-013 ◈ OUTER R ACURA LEGEND KA7, KA8 91- 12PCS

53540-SP0-023 FEMALE RHT (24/2PCS)

M14 X 1.5

CEHO-2L 53560-SP0-013 ◈ OUTER L ACURA LEGEND KA7, KA8 91- 12PCS

53560-SP0-023 FEMALE RHT (24/2PCS)

M14 X 1.5

TIE ROD END

HONDA

 DISCONTINUANCE INFORMATION

RACK END

MITSUBISHI


